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O 25%x36 = @ 39+32+68 =
@ 26+56+74 = 32x103 =
©) 87x99 = @) 25%X24 =
@  28%x25 = @ 56+48+44 =
® 10I1x26 = ®  65%x99 =
® 14+34+86 = @ 84x25 =
@ 9sxla = ® 29+11+89 =
88x25 = 92+48+52 =




STHENLS

B OROELERCHITEZ KIIHLTERELILLY,

®

@ 26+56+74

€)

25X36

900

25X (4X9) = (25%X4)X9 = 100X9

156

(26+74)+56 = 100+56

87X99

8613

87X(100—1) = 100X87—1X87 = 8700—87

@)

®

28X25

700

(4XT)X25 = (4%x25)XT7 = 100X7

|01 X26

2626

(100+1)X26 = 100X26+1X26 = 2600+26

®

@

| 4+34+86

|34

(14+86)+34 = 100+34

a8x 14

1372

(100—2)X 14 = 100X 14—-2X14 = 1400—-28

88X25

2200

(4X22)X25 = (4X25)X22 = |00%X22

@ 39+32+68

/16

| 39

39+(32+68) = 39+100

32X103 =

3296

32X(100+3) = 100%x32+3%X32 = 3200+96

)

25X24 =

@ 56+48+44 =

B

600

25X (4X6) = (25X4)X6 = |00X6

148

(56+44)+48 = 100+48

65%x99 =

6435

65X(100—1) = 100X65—1X65 = 6500—-65

®

84X25 =

2100

(4X21)X25 = (4X25)x2| = 00X2|

® 29+11+89 =

| 29

29+(1 1+89) = 29+100

q2+48+52 =

192

92+(48+52) = 92+100




